
■ 次の式の値を求めなさい。

① 𝑏=－9 のとき ⑥ 𝑚=－5 , 𝑛=7 のとき

② 𝑎=－7 のとき ⑦ 𝑥=8 , 𝑦=－4 のとき

③ 𝑥=－6 のとき ⑧ 𝑠=－3 , 𝑡=－5 のとき

④ 𝑥=7 のとき ⑨ 𝑥=－2 のとき

⑤ 𝑠=8 , 𝑡=9 のとき ⑩ 𝑥=－7 , 𝑦=－6 のとき

5－2𝑥²

4(－3－4𝑥) 𝑠²𝑡

8𝑚－𝑛²＋3

𝑎²＋5𝑎－4 －9𝑥－𝑦

7

5＋𝑏

𝑠＋𝑡

6

𝑥²－1

4

2

𝑥𝑦

式の値
年  組 名前

/10



■ 次の式の値を求めなさい。

① 𝑏=－9 のとき ⑥ 𝑚=－5 , 𝑛=7 のとき

② 𝑎=－7 のとき ⑦ 𝑥=8 , 𝑦=－4 のとき

③ 𝑥=－6 のとき ⑧ 𝑠=－3 , 𝑡=－5 のとき

④ 𝑥=7 のとき ⑨ 𝑥=－2 のとき

⑤ 𝑠=8 , 𝑡=9 のとき ⑩ 𝑥=－7 , 𝑦=－6 のとき

－68

－9𝑥－𝑦

－45

𝑠²𝑡

8𝑚－𝑛²＋3

10

𝑎²＋5𝑎－4

84

4(－3－4𝑥)

－93

5－2𝑥²

－86

7

5＋𝑏

－
7

4

𝑠＋𝑡

6

17

6

𝑥²－1

4

3

4

2

𝑥𝑦

1

21

式の値
年  組 名前

/10


